Pulleys
1. An Atwood machine contains two masses of 2.75 kg and 3.25 kg.  The two masses start out 1.50 m from the floor.  If the masses are let go from rest, which mass will hit the ground and how long will it take for it to fall?
2. An Atwood machine accelerates at 2.40 m/s2 when released.  If the smaller mass is 40.5 kg, what is the larger mass?
3. A mass rests on a frictionless surface and is attached to a pulley with a mass hanging off the edge.  If the mass on the table is 89.4 kg and the hanging mass is 25.6 kg, what is the acceleration of this system?
4. A mass of 4.55 kg rests on a flat table and is connected to a pulley with a hanging mass of 2.55 kg.  If the masses do no move, what is the minimum coefficient of static friction?
5. A mass of 6.80 kg rests on a frictionless incline plane, connected to a pulley with a hanging mass of 2.95 kg.  What is the minimum angle of incline necessary to prevent this system from moving?
6. Two masses of different mass are connected together in an Atwood machine.  What is the acceleration of the system?  Your answer should be a ratio of the two masses.  I didn’t give you any numbers, but you can still do this problem.

7. Two masses are connected together in a pulley system.  The larger mass (we can call it “M”) is resting on a flat table and the smaller mass (we can call this one “m”) is hanging off the edge.  If the masses do not move, find the minimum coefficient of static friction between M and the table.  The answer should be a function of the two masses.  I didn’t give you any numbers, but you can still do this problem.
